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H E B R B 7 8 :  Modem Hebrew L o w e r  Intermediate 

Attempt ALL Questions 

1) Read the passage below and answer the questions following it in 
Hebrew: (20 marks) 

.10~'1 

o~e)n-.-.-.-po o~01~m : z n . ~ ' ~ ) ~  nno'~n wro :zl'o'n 01) ~ ln  n.'zlp'n m, 

• l"al~ I:l~j,'u~o--m n R ~  u~n  .nnloz~l n~:n~ mlpn ul~ :n~ o~e)~0o w~1"m 

"112~ I:~11 D)~11;1 112.~ 13,1 "ITrD~) t) ,11~D'11;1 ~ 1',11~"1 o~r"119 ;irl ~1~ x iD l~  

am n~o~on an .noon )n a n  nL~'~_ ~_'~..'~w unou Tb; 'm ~ a~n 
~ n  no ,on  am noon an '~v n ~ p ~ n  n~-p~on n ~ ' ~ n z )  ~ m~ . n ~ w n  

: n ~  
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/ :pro m~z~ 

."  ~ ~)n~n - : t ] lpu= ~t)i~o:~ =m:) n• .10 

2) Insert the correct form of the verb in brackets into the 
following sentences (10  marks): 
Write your answers on the exam paper in the space provided 

(n~Y~) 
.n '~n ~:~ (pu~) 

na~ t ~  (nup'~) 

)n (~'~,'~) 

.(n~n#;) 
"~ U'~ "m~ n~n~ ;'m~ ~ ~ - ~  ('m~) 

. u ~ m ' ~  ~ m~n '~az~ a ~  ~n', (m~'~) 

.n-r,,,~ou~ "i~ '~n/~ ~nlH '~p=~ (nnH ,H~)  

.TI1p'l~l ;11"pD 

Hln tPlDTIH t):H 2110 "1311) lP~"ID Hln DI'~'I .4 
.'IHI3 

mD .6 

• ln~  .7 

l ~ ~ n  .8 

I:)H .9 

H:ln ~1:1~:1.10 
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f ~" H E B ' R B 7 8 .  ? : • 

/ / 3) Change the following sentences from active Ix) passive 7 
/ (5 marks): 

.tP31~ 10 ~D'7 "tgV~l f i r  2trD "tg~o~ .2 

.91}3fir 'IRTi~ ~'l:3~3,"l f i r  ~'lrl~'~ .3 

. o n ~ g n  nt, mn nt~nma a~a~ 'mnt, t 'oa .4 

4) Translate the following int0 Hebrew.  (30 turin) 

Avi is ajommli~ who writes for an "Lm-aeli ~ .  He rurally writes artid~ aboul 
social and cultural imue~ One of the topics tim Avi wrote about recently is the mnber 
of  avcid~/s o .  ~ roads in lind. 

Traffic accidents are a sodom problem in Israel and each year many pcol)le are ~ and 
~ u r e d  on the roa~ Avi writ~ that the problem is not only camed by bad driving, but 
also by the ~ o f ~  and o f p a ~ : ~  in cam Pedestrians cro~ the toads 
when f l~e  is a ~ I  light m t l m U m g ~  do not alway~ wear u~t be~. 

Avi thin~ ~at the only waylo u)lve this Iz~em ~ by educating people when lh~/are 
very young. He fldn~ flint all zdmol c, hildren rJz~fld receive lessons in  road safety and 
on how to belm~ in the Ureet md how to Ix:hue w l ~  ddvi~ 0r travelling by car. 

5) Write an emy k Hebrew (Z00-250 words) on ONE ef/he following: 05  marks) 

0 )  What paxt did E1iezef Ben Yehuda play in Ibo creation of a Jewish State in Israel? 

(2) A r ~ m  U o . ~ .  

(3) Your plato for tho f~rc. 

(4) A famo~ J e ~ . ~ ~  p ~ o ~ .  
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